211w-18 Tailored Jacket

Suggested yarn:

* Pierrot Yarns Yuyake no Sora [100% wool; 427 yds/390m per 3.53 0z./100g hank];
« color #105 gray gradation, 5 hanks [415¢]
« color #106 red gradation, 5 hanks [415g]

Tools/Notions:
+ 3.0mm (approx. US C or D) crochet hook or size necessary to achieve gauge
* 3 buttons (20mm/0.79")

Finished measurements:
* bust 92cm/36.22"

« cross back width 36ecm/14.17"
* length 57¢cm/22.44"

* sleeve length 55cm/21.65"

Gauge (10cm/4" square):
* pattern stitch: 22 sts and 16.5 rows

Gauge may vary according to individual crochet style. Change hook size if necessary to achieve gauge. Alternatively, rework pattern
with your own gauge measurements.

Crochet Tips
%Entire garment worked with 2 strands of yarn held together.

Front & back body: Chain to begin, and working into bottom loops of chain, work in pattern stitch.

Sleeves: Chain to begin, and working into bottom loops of chain, work in pattern stitch. Working around cuff area, work cuff
edging in sc.

Collar: Chain to begin, and working into bottom loops of chain, work in pattern stitch.
Pockets: Chain to begin, and working into bottom loops of chain, work in pattern stitch. Continue in sc.

Finishing: Seam shoulders with woven seam. Seam sides and sleeve undersides with chain seam (alternating ch and sc
stitches as needed). Attach collar to body with woven seam. Work edging around collar, front edges, and hem in the round,
being sure to work buttonholes in right front as you work edging. Seam sleeves to body with chain seam. Fasten pockets to
body with whipstitch. Fasten buttons to body.

Abbreviations:

ch = chain

RS =right side

sc = single crochet (US)

sc3tog = single crochet 3 stitches together :
WS = wrong side :

--------------------------------------------------------------------------------------------------

© 2012 Pierrot Yarns (Gosyo Co., Ltd.). Translation by Linda Lanz. All rights reserved.


http://gosyo.shop.multilingualcart.com/index_en_jpy_1-176.html

Back Front Sleeve
9cm 18cm 9cm 9cm . 8cm
20 sts 39 sts 20 sts 20sts 18 sts

chart 6 14cm

2cm¥4 rowsw 6em |10 rows 24 rows
19cm 2
Rrows o 79 sts | 36cm
= chart 5
B .
pattern stitch
3.0mm hook 39cm
55cm pattern stitch pattern stitch | 4g90m 64 rows
+15 sts
82 rows
3.0mm hook 3.0mm hook
34cm
56 rows
start: 49 sts/22cm
‘ 2cm$ 5 rows
sc (3.0mm hook)
¢ ] e—edging: 49 sts—e
o start: 101 sts | 46cm ——— start. 49 sts
22cm
Pocket (make 2) Collar (3.0mm hook)
3.0mm hook
SC —— 85sts|38.5cm ——
1.5cm f3 rows =
pattern stitch 1 +osts I
pattern st 10.5cm \ T / N
18 rows start: 75 sts | 34cm scm
T 8 rows
JStart: 29 sts
13cm
Edging (3.0mm hook)
Instructions for corner of collar.
Finishing
s,
2cm X
85 sts 5rounds  How to attach collar Buttonhole & §§§§§§§§§§i§f§f
3.0mm hook st corner hem S
. . XXXXX
instructions S5 A =scBtog
12 sts 3.0mm hook X%
XX XXX XXX XXX X
+1 st XXX XX collar (WS) szxxxxxxxxx+t§§
35 sts §§X§§\ +xxxxxxxxxxt§§§§
10sts §§H§§ buttonhole K 10sts —/Jxxxx
(= buttonhole whipstitch’ s (431) comer ggggg
(4 sts) XX XXX +1 st egegecote]
18 sts XRXXX X X X X X
XXX XX efogoteds!
104 sts XXxXx XXX
1, front
XXxXXX 21 sts RS XX XXX
18 sts 9sts XXXXX (RS) XX XXX
104 sts |XXXXX XX XX X
\ XXX XXERX
corner. 20 rows hiostitch XXXXX 104 sts XXXxx
st whipstitc oge3e303e! sts [XXXXX
215t 99 st
49 sts — 4 rows XXXXX XXXXX
T 7 1*)XXXXXXXXXXXXXX++XXX §§§§§
edging 1> SRR N e
work 101 sts 2cm 5> SEXXRSEBEIREBT et

from back

5 rounds



Sleeve

Back

center of sleeve cap

chart 2

= (=1
=) 353

o — o
=

Eco ﬁ a i 723

© = > 3

VJWW. o~ .x\ux\uxv w =

= X XH— XH—X XF=X, ﬁ i Py ©

S5® = X X X Xh— XPS XX h S & .

=00 i X X X X XH— X— XEES XP2x o ™

Il

w \IIXII X = X = X— XH— X— X — XIIXVX\UX/ ﬁ I=3
A~ X X H— X H— X H— X XH— XH— X H— X H— X H— XH— XH— XX, b o
h NIIxIIxII X X X X XH— XH— X H— X X XH— X XEES X272 ﬁ -~ -
Vi i X X X e XA Xl X X X X e X e X e X XA X X X X 5O ,— ~
Xt X e X Xt X b Xt Kb X Xt X b X e X X Xl X Xt X X b X PSS X 22X, ﬁ )

| R

<
-
“)

NT\lXT\lXT\lXT\l XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XTleTleTlXV X=X
H— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— X = XH— XH— XH— XVXQ“UX

(=3
ﬁ NXIIXIIXIIXII X X H— X X X X X X X X X X X X X b X X X X e X e X X P X 52X a ~— £
© NTXTXTXTXT K= X H— X— X XH— X — XT\|XT\|XT\|XT\|XT\|XT\|XT\|XT\|XT\|XT\|XT\|XT\|XT|XT\|XT\|XI|XT\|XVX\U0X h (o)
- 4 X Xt X X X X X X X X X X Xt X X X X X X X b X e X X X X X X X X X X X 2% ﬁ h m
nn — H— X H— X— X X X H— X X H— X X X— X— XT\|XT\|XT\|XT\|XT\|XT\|XT\|XT\|XT\|XT\|XT\|XI|XT\|XT\|XT\|XT\|XT\|XT\|XT\|XT\|XT\|XVX\0X
(] XL X Xt X Xt X X X X X X X X X X X X Xt X X X X X X X X X X X X X X X X X X X P i)
= AL b Xt Xt X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X o
o X X X X e Xt X X X e X X b Xt X X X e X X i X X X X X X X X b X X X e X X X X X X X X X X— X— XH— () <t
&_Nxtlxtl Xt X b X Xt X b X bt X X b Xt Xt Xt X X b Xt Xt X Xt X b Xt Xt X b Xt Xt Xt X X b Xt Xt X Xt X X bt X X Xt Xm XH— () -5
m N H— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH—
K= X = X H— X X H— X— X— X H— X = X = X X X X X X X X X X X X X X = X X X X = X = X H— X X X X = X = X X X X X—
q \&II XiH— X H— X H— X H— XH— XH— XH— X H— XH— X H— XH— XH— XH— XH— XH— XH— XH— XH— XH— X XH— XH— XH— X H— X H— XH— XH— XH— X H— XH— XH— XH— XH— X H— XH— XH— XH— XH— XH— XH—
£Z XH— XH— XH— X H— XH— X H— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— X H— X H— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH—
= X X = X H— X H— X H— X H— X X = X H— X H— X = X = X— X— XH— X H— X = X H— X— X— X X— X X X X = XH— XH— X H— X = XH— X X— X X H— X H— X— XH— X— X— X—
\&T XH— XH— X H— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— X = XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH—
A= X = XH— XH— X H— X H— X H— X H— XH— XH— X H— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— X XH— X X = X = XH— XH— X = X = XH— X H— X = XH— X H— X = X = XH— XH— X H— X—
nA/.;. H— XH— XH— XH— X H— XH— XH— XH— XH— XH— XH— X XH— XH— XH— XH— XH— XH— XH— X = XH— XH— XH— XH— XH— XH— X H— XH— XH— XH— X XH— XH— XH— XH— XH— XH— XH— XH— X—
QAIIXII Xif— Xt X X X X X X X X X X X Xt X X X X X X X X Xt X X e X X X X X Hm X X X X X Hm XH— XH— <o Xi—
ﬁ X X=X H— X— XH— X H— X H— XH— X X X X = X = X X X X X X X X X X X X X X X = X X X H— X = X = X H— X X = X X = X — XH— K=
H— X XH— XH— X X H— XH— X H— X XH— X XH— XH— X e XH— XH— X X XH— X H— X H— XH— X X XH— XH— X X b X H— XH— XH— XH— X H— X XH— X X— X H— X H— XH— 2 X—
XH— XH— XH— XH— X X H— XH— XH— XH— — x h -~
X Xt Xt X X X X X X i = ® X ¢ —
X X X X X X X b X X 39 f= X XS 3¢ ﬁ h
© = = Q.
X— X H— X H— XH— XH— XH— XH— XH— XH— —8 3 S > ORI
X X b X X X X e X i X i X b N = o Xt Xt X
A o
X— X = X = X— X#— X = X #— X = X — h q q - X— X H— X = X —
X— XH— XH— XhH— XH— XH— XH— X— Xh— N sl XIP KPP )PP KPR PP, PP PO PO )PP PR %2 o X X e X e X e
XH— XH— XH— XH— X— X XH— X— X— X X XH— XH— XH— XH— XH— X H— XH— X H— X H— XH— XH— XH— XH— XH— XH— o Kt X b X X
XH— XH— XH— XH— XH— XH— XH— XH— XH— -~ X it— X f— XK= XH— XH— XH— XH— XH— XH— X H— X H— XH— XH— XH— XH— XH— XH— < XH— X H— X H— X—
> XH— X=Xk XH— XH— X b= X = XH— X — N S o X X— XH— XH— XH— XH— XH— XH— X H— XH— Xh— XH— XH— XH— XH— XH— S | |
X— XH— X = XH— X=X X = X = X — h = 3%TXIIXII — XH— X— XH— X XH— X H— X X i X i X X X X X— X— - |
XH— XH— XH— XH— XH— XH— XH— XH— XH— (1] o h o X X Xt— X X X X H— X X = X = X = X X = X— X X H— XH— n”a Xirt— X bt X b X
= Y X b X X X— XH— X— X— XH— XH— X X H— X H— XH— XH— XH— XH— XH— X— [=] X X i X X
~ o o - o - © h Lt Kbt Xt Q Xt X X Xt X b X b Xt Xt X e X Xt X Xt X X— © X X i X e X
Deld ~ ~ — — X X i X X H— 1+ XH— XH— XH— XH— X H— XH— X— XH— X — XH— XH— X— X— XH— X— B —> X=X X o Xi—
.Iﬁ ﬁ h ﬁ @ ﬁ i X X X XH— XH— XIH— XH— X H— X H— XH— X H— X H— XIH— XH— XH— XH— XH— X— - ONROHIRGIROE
X_NXIIXIIXII N X X X X X X = X b= X = X H— X H— XH— XH— XH— XH— XH— XH— Qo Xt X bt X b X b
&W\ux\bx\ox\ux\ux\ux\ux\ux\ux\ux\oxk Xi— Xb— X— X— « ﬁ F— XH— XH— XH— XH— X H— XH— XH— X H— X H— XH— XH— XH— XH— XH— XH— c Xit— X X H— X
8 X X b= X i X Xt X X i X Xt X Xt X X X X X gt 4& = Kt Xt Xt X X X X X H— X = X H— X H— X = X X H— X— % XH— X H— X H— XH—
X X X i X H— X X X e X X Xt X Hm X e X X X e = q H— XH— X XH— X— X H— XH— XH— X H— X H— X XH— XH— X— XH— XH— Xt X e X e Xh—() .S
X X H— X X i Xh— X— X H— X H— X X X i X X X— X = = N i X X Xt Xt X Xt X Xt X X X— X X— X— Xb— Kt X bt X i X e %
N = X H— X H— X X— X X H— X X X e X b X X X o N K= X XH— XH— XH— XH— X H— XH— X H— X H— XH— XH— XH— XH— XH— XH— 2 Xi— X X = X—() &
e Xt X X — Xt Xm X X e Xt X X e 3 X X b X e ﬁ & H— XH— XH— XH— XH— X— XH— XH— X— X H— X H— XH— XH— XH— XH— XH— X— % X X X XH—() "5
e X X X X Xii— X i X X Xl X — X e X i— X— Xi— NX Xt Xt X Xht— X X Xt X = X X X X X X X X = X— 2 Xt X b X X () +=
o X X H— X . X— X X e X X X X i X X — X— X — X ) X Xt XH— X X X X X i X X X i X X X Xt X X Xt Xit— X X = X—() LO
X— X e X i X X— X X Hm X X X X b X X X X Xm X— X X X X X X— Xim X im X X X X X X X X— XH— X— & Xt X b X — X— () D=
| X X X H— X XH— X X Hm X X X X X X X b X BH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— X H— X H— X— XH— XH— XH— XH— XH— & Xit— X = Xb—X—() "5
Xi— X H— X i X m Xm X X b X b Xt Xt X bt X X X X H— X = XH— XH— XH— XH— XH— XH— XH— XH— X H— XH— X H— X H— XH— XH— XH— XH—XH— XH— O Kt X b X b X e
h o X XH— X H— X H— X X H— X H— X H— X X X H— X I X Xt X Ifm e XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— X H— X H— XH— XH— XH— XH— XH— XH— o) Kt X b X X e
X X— X e X H— X H— XH— XH— X H— X H— XH— X— X H— XH— X H— XH— XH— = X X X = X = X X X X X = X X X = X X X X X XH— XH— Xi— X H— X — X —
X X X e X X i X X X I X e Xt X X I 3 X e X b X e X XH— XH— XH— XH— XH— XH— XH— XH— X H— X H— X— X H— X — XH— XH— X— X— XH— XH— X X i X X
S X X X X e Xt Xt X b X b X X b X b Xt X Xt X e X XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— — Xit— X e X H— X
e Xt X e X X X X X X e X X Xl 3 X X b X 0 X— XH— X— XH— XH— X— XH— X X H— X H— XH— X X X X X XH— XH— XH— " X X i X Hm X
e X X X X i X X X i X X X X e X X X X e q X X Xt X X X X Xt X i X X X Xt Xt X X Xt X— X— X X i X X
X X X H— X H— X X XH— X H— X H— XH— X X H— X I X X X 4@ X Xt X X X X X X X X X X e X b X H— X H— X = X H— X H— X— K irm X b X X b
X— X— X H— X X H— X X X H— X H— X X X H— X X— X o X — X=X = X = X— X— XH— X— X X H— X H— X=X = X X XH— X X = XH— XH— e Xt X bt X b X b
M.ANXIIxIIxIIxII X XH— X H— X H— X X X i X X H— X X N B— XH— X— X— XH— XH— X— X— XH— X— XH— X H— X H— XH— XH— XH— XH— XH— XH— $— X X i X X
it Xt X H— XI— X X X X X X X XH— X X Xi— = Xt X = X X = X— Xbt— X=X Xt X=X b X X Xt X XH— XH— Xb— O Xt X b X b X
N X X X X Xt X e X X X X e X e i X X — XH— X XH— X— XH— X— XH— X H— X H— XH— X H— XH— XH— XH— X— X— XH— X— 1= X X i X X
= X H— X H— X H— XH— XH— XH— XH— XH— XH— X H— XH— XH— XH— XH— V— X X X X X X Xi— X X i X X X X X X X XH— X— (O Xt X ot X b X bt—
X X X X X X X i X b X X b X — X e X H— X— X e X X XI— XiH— X X Xt Xt X X X— X X H— XH— XH— XH— XH— XH— X— - Xt X bt X b X
0 X m Xt X Xt X b X bt X bt X b X X bt Xt X ot X X X XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— X H— XH— XH— XH— XIH— XH— XH— X— X— X H— X — X#—
X — X H— X H— XH— XH— XH— X H— XH— XH— X H— X— X— X— X— 8 XH— XH— X— XH— XH— XH— XH— XH— X H— XH— X H— X H— X X X X— XH— X— X— X H— X — X #—
X X X e Xt X X Xt X Xt X b X b X X X b A. BH— B B BH— B Sk Sk EH— EH— B B H— BT X X X X X XiH— Xt X = X = X—() .S
XH— X H— X H— X— XH— X H— X H— X— X X b XH— XH— X— XH— 7@ M_ANXIIXIIXIIXIIXII X— X = X X— %
X = XH— X XH— XH— XH— XH— Xh— XH— X H— XH— XH— XH— XH— q h q h q M_ANXIIXIIXII X— XH— X H— XH—X—() &S
Xt Xt Xt Xt Xt X X Xt Xt Xt X H— X H— XH— XH— T o o - o - Bt Xt X X X XH— X H— XH—
XH— X H— X H— XH— XH— XH— XH— XH— XH— X H— XH— XH— Xh— X— e ~ ~ — — N X=X X— XH— X H— X H— XH—
X X X X X X X X Xt X e X X X X @ BH—XH— Xt— Xi— X i X Xt
X = X = X H— X X— X H— X = XIH— X— X H— X X X— X H— h =L SH—XH— X— XiH— X = X = X —
XH— X H— X H— Xh— XH— X H— X H— X— X X b XH— XH— X— XH— © o | Y= XH— X— XH— X H— X H— X H—
X X = XH— X XH— XH— X H— XH— X X H— X XH— X— X— R X X = Xi— S X X = X = X
X = XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— XH— o XH— XH— (4+] X XH— X b=
Xt X X X X X X Xt X X X X X X— Xt Xit— — X X H— X

center of back

Xt X = X H— XH— XH— X H— XH— X— XH— X H— X— X— X— X—
X— X H— X H— XH— XH— X H— X H— X— XH— XH— XH— XH— XH— XH—
—> XH—Xh— X XH— XH— X b— XH— X— XH— XH— XH— XH— XH— XH—

Front

K K - - X () = xtuxuwmuV\

el 3 ¢

<
w



